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B. Com. (Sem. I) (CBCS) (W.E.F. 2016) Examination
March - 2021
Business Mathematics - 1

(New Course)
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ENGLISH VERSION

Instructions : (1) Answer any four questions.

1 (@
(b)
2 (a)
(b)
3 (a)
(b)
4 (a)
(b)

(2) Figures on right side indicate marks of question.

If A and B are any two sets, then prove that 17.5
() (AuB) =4 B

@ (A4nB)=4UB

If A={123}, B={2,3,4}, C={3,4,5}, then verify that
1) AuU(BNC)=(AUB)n(AUC)

@ An(B-C)=(AnB)-(ANC)

Explain the following terms : 17.5
Union of Sets, Null Set, Singleton Set, Difference of
Sets, Intersection of Sets.

If A={2,4}, B={4,5}, U={1,2,3,4,5}, then prove that
(1) (AUB)=A'nB

@ (AMB)=A"UB

Find n : 17.5
1 " =210"p

@ 4"p=5""p

How many different words using all the letters of word
"FRIDAY' can be formed using each letter once ? How
many of them (1) begin with F ? (2) begin with F and
end with Y ?

Prove that : "¢ +"c._, :”Hcr 17.5

A bag contains 4 white and 6 black balls. Two balls are
select. How many combination can be possible (1) both
are white balls (2) both are black balls (3) both are
different colour.
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Expand (2)6 +1J 17.5
Y
Find value of (1+w/§)5 +(1—\/§)5

6
1
Find coefficient of ,3 in expansion of [X2+;j . 175
3 10
Find middle term of [;Jrgj i
Explain Interpolation and Extrapolation. 17.5

Estimate the missing value by using proper method of
interpolation

x:|10{20 (3014050 |60
y:| 8 [12] - 129]42 |55

8 Estimate the value of y when x=35 using Lagrange's 17.5
method.
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